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Explain the term super plasticizers. How are they useful in concrete production?

Explain the advantages of using plasticizers and super plasticizers in concrete

making.

OR
Discuss the chemical composition of Ordinary Portland cement.

Briefly explain different types of cement.

luNrr-rrl

Explain different methods of placing concrete.

Explain different methods of curing procedure.

OR
What do you understand by the term "Workability"?
Discuss the various factors aflecting the workability of concrete. L2 6M
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a Dcfirrc thc tclrrr "Mix Design o-lConcreLc" and cxplain ils siglrificanoe.
b Briefly discuss various methods of the mix design available in literature.

OR
a Design a M40 concrete mix using IS nrethod of Mix I)esign for the following data:

l) Maxirr-rum size of aggregatc - 20mnr (Angular).
2) Degrce of workability - 0.90 compactiorr factor.
3) Quality control - good
4) Type o1'exposure - severe

5) Specific Gravity: A. Cemenl - 3.15 B. Sand -2.68 (1. Coarse aggregate -2.71
6) Watcl absorptior.r: A. Coarsc agercgalr' -1.0% B. Finc aggregale - 2.0%
7) Frcc srrrlace moisLurc: A. Coarsc aggregate- Nil B. I'ine aggrcgalc-2.)Yo
8) Sand con{rrms to zonc III grariinrl.
Assur"nc anv othel dala requircd srritabll,
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5 a What are the factors that affect the creep and shrinkage of concrete? LI 6M
b How does strength of concrete influence the modulus of elasticity and Poisson's L3 6M

ratio ofconcrete?

OR
6 a Explain the various pulse velocity methods and the techniques measuring the pulse L2

velocity through concrete.

b Explain Schrnidt's Rebound Hammer lest and the limitations and applications of L3
the same.
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\\'irrr1 ltt't' tiil'li:r'cn1 1,r pt's ol lilrt't's its,.'rl iir lltrr ;tt'tttlttcliotl o1
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\\i it)r rcsl'rerct I;ibrc I{cinlirrr":ctl concrclc crp)ain lir))ttu iltg lct'ttts.

i)Asltcct ratio ii) I)crccnlagc volrnlrc ol'llbrc
oR

Irxplain polynrcr concrctc'?

I rrplain t1,pcs o l' poI1'11.,",' coltcrclc'l
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